Biology 30

Name: _____________________


Reflex Lab
You will be designing an experiment, in groups of 2 or 3, to investigate two problems.  The first is given to you, the second will be a problem of your choice.  Base your experimental design around dropping a meter stick through a blindfolded person’s hand and seeing how far down it goes before they catch it.  You need to first provide two scientific hypotheses, one for each problem, and then develop an experimental design (procedure).  Present your design and data tables to your teacher for approval before conducting your investigation.  Your entire Experiment will need to be written up in proper Lab Report format and handed in along with the answers to the Analysis Questions.
Problem:  
1)  What effect does handedness have on reflexes?



2)  What effect does ____________________________ have on reflexes?
Hypothesis:  One hypothesis is needed for each problem (be sure to describe, what, why,      how to measure, etc)  (6 marks)    

Materials:   meter sticks


 eye blinders


 (indicate if you will be using any additional materials)

Experimental Design:  -- only need 1 per group, on a separate sheet  (5 marks)  
Observations: A table will need to be designed so that the data may be displayed in an orderly fashion.  Remember, you should have at least three trials for your data to be valid. (6 marks)
Variables:  Please include a list of all controlled variables for your experiment. (3 marks)
Conclusion: Explain your experiment and what results you found.  Use numbers.  Did you hypothesis correspond with your results?  If not, why do you think?  What kinds of errors may have been present?  Is there anything you can do to diminish these sources of error?  (5 marks)

Analysis:  Attached Questions (10 marks)
Analysis Questions:

1) What type of receptor is being used to test the reflexes in this hand (think of what sense is being used? (1 mark)

2) What kind of neuron carries this information from the receptor to the dorsal root ganglion in the spinal cord? (1 mark)

3) The space between two neurons is called the SYNAPSE.  In a typical reflex arc, how many of these spaces would be found? (think about the types of neurons and the pathways)  (1 mark)

4) What is the name of the second neuron in a reflex arc? (1 mark)
5) What is the name of the third neuron in a reflex arc? (1 mark)

6) What are the advantages of a reflex arc? (2 marks)

7) While examining the victim of a serious car accident, a physician lightly pokes the patient’s leg with a needle.  The light pokes begin near the ankle and gradually progress towards the knee.  Why is the physician poking the patient?  Why begin near the foot? (3 marks)

